



















## Fourier transform of a periodic impulse train Periodic impulse train $\widetilde{p}[n] = \sum_{r=-\infty}^{\infty} \delta[n-rN]$ The discrete Fourier series coefficients $\widetilde{P}[k] = \sum_{n=0}^{N-1} \delta[n] W_N^{kn} = 1$ Fourier transform $\widetilde{P}(e^{j\omega}) = \sum_{k=-\infty}^{\infty} \frac{2\pi}{N} \delta(\omega - \frac{2\pi k}{N})$ Finite duration signal x[n] (x[n] = 0 outside of [0, N-1]) Construct $\widetilde{x}[n]$ $\widetilde{x}[n] = x[n]^* \widetilde{p}[n] = x[n]^* \sum_{r=-\infty}^{\infty} \delta(n-rN) = \sum_{r=-\infty}^{\infty} x(n-rN)$ Its Fourier transform $\widetilde{X}(e^{j\omega}) = X(e^{j\omega}) \widetilde{P}(e^{j\omega}) = \sum_{k=-\infty}^{\infty} \frac{2\pi}{N} X(e^{j(2\pi/N)k}) \delta(\omega - \frac{2\pi k}{N})$







## Sampling the Fourier transform

Now we want to see if the sampling sequence X̃[k] is the sequence of DFS coefficients of a sequence x̃[n] this can be done by using the synthesis equation

$$\frac{1}{N} \sum_{k=0}^{N-1} \widetilde{X}[k] W_N^{-kn}$$

$$= \frac{1}{N} \sum_{k=0}^{N-1} \left[ \sum_{m=-\infty}^{\infty} x[m] e^{-j(2\pi/N)km} \right] W_N^{-kn}$$

$$= \sum_{m=-\infty}^{\infty} x[m] \left[ \frac{1}{N} \sum_{k=0}^{N-1} W_N^{-k(n-m)} \right] = \sum_{m=-\infty}^{\infty} x[m] \widetilde{p}[n-m]$$

$$= \sum_{r=-\infty}^{\infty} x[n-rN]$$

$$= \widetilde{x}[n] \quad \text{A periodic sequence resulting from aperiodic convolution}$$
15 Digital Signal Processing, IX, Zheng-Hua Tan, 2006



































Simpler Constraints of the second sequence is multiplied by the second sequence is cularly time reversed and linearly shifted version of the singler parameters of and linearly shifted sequence is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted. So it is cularly time reversed and circularly shifted.



IAD	LE 8.2		
	Finite-Length Sequence (Length N)	N-point DFT (Length N)	
1.	x[n]	X[k]	
2.	$x_1[n], x_2[n]$	$X_1[k], X_2[k]$	
3.	$ax_1[n] + bx_2[n]$	$aX_{1}[k] + bX_{2}[k]$	
4.	X[n]	$Nx[((-k))_N]$	
5.	$x[((n-m))_N]$	$W_N^{km}X[k]$	
6.	$W_N^{-\ell n} x[n]$	$X[((k - \ell))_N]$	
7.	$\sum_{m=0}^{N-1} x_1(m) x_2[((n-m))_N]$	$X_1[k]X_2[k]$	
8.	$x_1[n]x_2[n]$	$\frac{1}{N} \sum_{\ell=0}^{N-1} X_1(\ell) X_2[((k - \ell))_N]$	
9.	$x^{*}[n]$	$X^{*}[((-k))_{N}]$	
10.	$x^*[((-n))_N]$	$X^*[k]$	
11.	$\mathcal{R}e\{x[n]\}$	$X_{ep}[k] = \frac{1}{2} \{ X[((k))_N] + X^*[((-k))_N] \}$	
12.	$j\mathcal{J}m\{x[n]\}$	$X_{op}[k] = \frac{1}{2} \{X[((k))_N] - X^*[((-k))_N]\}$	
13.	$x_{ep}[n] = \frac{1}{2} [x[n] + x^*[((-n))_N]]$	$\mathcal{R}e\{X[k]\}$	
14.	$x_{\text{op}}[n] = \frac{1}{2} \{x[n] - x^*[((-n))_N]\}$	$j\mathcal{J}m[X[k]]$	
Prop	perties $15-17$ apply only when $x[n]$ is real		
15.	Symmetry properties	$\begin{cases} X[k] = X^*[((-k))_N] \\ \mathcal{R}e[X[k]] = \mathcal{R}e[X[((-k))_N]] \\ \mathcal{I}m[X[k]] = -\mathcal{I}m[X[((-k))_N]] \\  X[k]] = [X[((-k))_N]] \\ \lhd (X[k]] = -\sphericalangle[X[((-k))_N]] \end{cases}$	
16.	$x_{ep}[n] = \frac{1}{2} \{x[n] + x[((-n))_N]\}$	$\mathcal{R}e\{X[k]\}$	2
17.	$x_{op}[n] = \frac{1}{2} \{x[n] - x[((-n))_N]\}$	$i\mathcal{T}m[X[k])$	AALBORG UNIVERS







**Circular convolution as linear convolution with alaising** Fourier transform of  $x_3[n]: X_3(e^{j\omega}) = X_1(e^{j\omega})X_2(e^{j\omega})$ Define a DFT:  $X_3[k] = X_3(e^{j(2\pi k/N)}), 0 \le k \le N-1$ Also  $X_3[k] = X_1(e^{j(2\pi k/N)})X_2(e^{j(2\pi k/N)}), 0 \le k \le N-1$ So,  $X_3[k] = X_1[k]X_2[k]$ the inverse DFT of  $X_3[k]$ :  $x_{3p}[n] = \begin{cases} \sum_{r=\infty}^{\infty} x_3[n-rN], 0 \le n \le N-1 \\ 0, & \text{otherwise} \end{cases}$   $x_{3p}[n] = x_1[n] \bigotimes x_2[n]$ The circular convolution corresponding to  $X_1[k]X_2[k]$  is identical to the linear convolution corresponding to  $X_1(e^{j\omega})X_2(e^{j\omega})$  if the length of DFTs satisfies  $N \ge L+P-1$ 





